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LESSON 151 - Astrology 4 L151/1
* gtrike out what does not apply

DIRECT METHOD OF HOROSCOPE CALCULATION

TO0 CALCULATE THE SIGNS ON THE CUSPS

STEP A o Example

1. Write down BIRTH date ) e.g. 21/6/82
2. Write down BIRTH place HASTINGS, N.=.
3. Write down LATITUDE of birth place 399 SOUTH 40°
4, Write down LONGITUDE of birth place 1769 EAST 52

Step Al Ghova
Obtained from the person or subject the chart is being calculated for.
e.g. Date of birth, inception or happening.

Step A2
The town, city or area of birth, inception, or happening occurred, again
obtained by the person or subject.

Step A3 ‘
The Geographical Latitude of birth place obtained from a map.

Step A4 .
The Geographical Longitude of birth place obtained from a map.

STEP B ‘ Hours Mins Secs

1. Write down BIRTH TIME as given 01 04 00 a.m./pri*
2. Write down ZONE STANDARD 12 00 00 E-/v3*

3. Write Summer (or double) time* - - - -

4. Greenwich Mean Time (G.M.T.) = 01 04 00 -avm./p.m.*

GMT date 20/6/82 ex#./p.m.*
Step Bl abouwe
Birth time or exact time of happening or birth or subject in concern.

Step B2 ’

ZONE STANDARD is the standard longitude time zone each country operates
under from Greenwich, England. e.g. Greenwich England is 00 degrees
longitude, every |5 degrees of longitude west of Greenwich is PLUS one
hour of time, thus 30 degrees West Long. would be 2 hours behind
Greenwich. Now, for East of Greenwich, every 15 degrees would be minus
one hour of time so 30 degrees East Long. would be 2 hours ahead of
Greenwich. So in our example, N.Z. being in the 12 hour standard time
zone East of Greenwich, we MINUS 12 hours from the LOCAL BIRTH TIME.

Step B3 .
If the birth took place during summer, or double time (daylight saving)

allowvance must be made by subtracting the appropriate time that was
added to the zone clocks.

Step B4
The result of the calculations being the birth time as it would have
been at Greenwich meantime, (GMT). Because the result was the product
of subtracting in this example, 1.04p.m. GMT would be the day before the
birth date LOCAL time, therefore GMT birth is 1.04p.m. on 20/6/82 GMT
date.
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This final result »of birth time is the time used in the following
calculations. This result is also used in the calculation of planetary
positions which will be explained later.

STEP C - Hours Mins Secs

Write in SIDEREAL TIME *noon/midaight GMT 05 53 29
Write to INTERVAL *Fe/From, *noon/midmight Ol 04 00 <awe.-/p.m.+*

S ————————

RESULT 06 57 29

Write in the Acceleration on INTERVAL '
(Step C2) 10 seconds per hour 10 avm.=/p.m.+%*
Which equals SIDEREAL TIME at Greenwich

at birth Qs 57 39

Write in LONGITUDE TIME EQUIVALENT 11 47 00 E+/Wir

Add 12 hours for the Southern Hemisphere

births (o} nacassary Ror Oordnan Gy 12 00 Qo

LOCAL SIDEREAL TIME AT BIRTH 29 104 39

Subtract 24 hours if necessary - 24 00 .00

RESULT = 0 104 39

Carry over seconds to minutes, mins

to hours if necessary = 06 44 39

FINAL LOCAL SIDEREAL TIME in this example is 06 44 39

Step Cl - Glouve

Is obtained from an EPHEMERIS. Locate the year of birth and the pages
of the month' of birth, then locate the "GMT date" as explained in Step
B4. Under the column named 'Sidereal Time' you will find the bhours,
minutes and seconds alongside the GMT date. See Table (i) (a).

There may be times when you will use a midnight ephemeris. The same
procedure is adopted.

Step C2

This is the time difference between the GMT and NOON as shown in our
example. 1.04p.m. is 1 hour and four minutes past the noon which the ST
(Sidereal time) was taken from, so this is added.

Please make special note: If using a midnight ephemeris, the probable
ST used would be from Midnight (MN)., If a MN Ephemeris was used in this
example, midnight of the 2lst is 00:00:00 hours 21lst, not 24:00:00 hours
- 2400 hours, therefore the GMT is subtracted, 1.04p.m. on the 20th

‘ being within the 12 hour zone, and before the ST of MN 2lst. BUT take
~ care not to 'subtract the actual 1 hour and four minutes. You must

subtract the DIFFERENCE between 1.04p.m. 20th and MN 21st. In this case
the answer would be 10 hours and 56 minutes.  Of course if the GMT was
1.04 a.m. 21st there would only have been lhr 4mins difference between
the MN and GMT time, so this figure would be used.

The rule is:-

For noon ephemeris, if GMT is a.m. subtract the difference.
For noon ephemeris, if GMT is p.m. add the difference.

For MN ephemeris, if GMT is a.m. add the difference.

For MN ephemeris, if GMT is p.m. subtract the difference.
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or
if the GMT is before the ST subtract the difference, if the GMT is after
the ST, add the difference.

Step C3
For every hour subtracted or added from/to the ST e.g. Step C2, ten
seconds per hour is also subtracted or added, whatever took place
initially.

e.g. 4 hours and 30 minutes = 45 seconds
4 hours = 40 seconds (10 seconds per hour)
30 minutes = 5 seconds (half of 1 hour = half of 10 seconds).

Step ca'
Which equals ST at Greenwich at birth. So we now have the exact ST if
birth had happened at Greenwich. Next is to convert this back to local
time.

Step C5
Longitude time equivalent is obtained from Step A4, 176° East 52'. To
convert this to time, each degree of longitude equals four minutes of
man time. So: ' ‘
176° 52' x 4' = 11 hours 47 minutes.

Step C6
Self explanatory.

Step C7
The result being local ST at birth.
Once the calculations got the exact GMT ST at birth then the necessary
calculations could be made to obtain the LOCAL ST at birth.

Step C8
There are only 24 hours in a day so any calculation 24 hours and over
has 24 hours subtracted to get the finmal calculation.

Step C9
Seconds and minutes work on the No. 60; each 60 seconds automatically
become 1 minute and each 60 minutes automatically becomes 1 hour.

STEP D ; Example
1. Carry forward your final ST result 06:44:39

2. Carry forward your Latitude from Step A3 39° SOUTH 40

3. Using the "Tables of Houses" open up at the page for iatitude 39° 40
(or latitude nearest).

4. Locate in the "Sidereal Time" Column your ST result (See Table (i)b).
You will find the ST nearest your ST using our example, is 6:43:31.

This will be the figure you will work from. Note also the difference
between:

: 06:44:39

- 06:43:31

= 00:01:08
in the event of wanting more accurate results.
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Table (i)(b)
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5. Follow your finger along the line from 06: 43 31 and the following
numbers will read: 10/13/13/8.42/6/6. )

Nowv look at the headings above the columns, then run your eye down each
column and see if a zodiac sign changes before your ST, then form your
new line for the headings.

ST 10 11 12 5352? 2 3
s g == == 'X,“"

Change at 6:13:5 .

Change at 6:17:26 ‘ M

Result S N == o A

#Now Convert to t$

Southern hem. A : -

e.g. all sign; V 7 /\/ 9{ r(’

are changed to
their opposite
signs

Place in degrees :
as noted along 10 13 13  8.42 6
your ST line

[+

# only if calculations have been made for a Southern Latitude birth. For o
Oocera o EVere 0 S VT Q“\%\N\\ vesw\k,

Now, the 10 at the top of the column means the 10th house (10th cusp), the 11
(11th cusp), the 12 (12th cusp), the Ascen is the ascendant which is the 1st
cusp, the 2 (2nd cusp), the 3 (the 3rd cusp).

6. Follow your eyes down the columns and you will see the results are:-
10th cusp is 100 V*7 w '
11th cusp is 13° 2% kg_‘a__\ . Crscamdon) wiae~ s )
12th cusp is 130* \r\w.u. Gt ©
Ascen is goTs2:

2nd cusp is 69
3rd cusp is 693"

STEP E
Carry forward Step Dé for use in this step.

On your horoscope wheel place these signs and their degrees onto the cusps of
the houses which they have been alotted to. See diagram I

Sae Avagroen T
Thenp follov in natural progression around the wheel the other signs of the
zodiac along with the degrees of the signs opposite them. It is important
that the signs opposite each other are the ones ordinarily opposite in natural
progressions for the case of intercepted houses see diagram IIX



PROGRESSED DATA

Noon positions on

Correspond 10 e 19— Noon Date

=]
4
C 9

PC

‘m PY

i
PR

I=
m——— Negative
Tripliciies:-

i Fire Qwn Sigh e
Eathee—ee Exalted e
Aif . Detriment

I Water Fall
Quadruplicities :-

Cardinal Angulas e

l Fixed Succesdent —

Mutable ——u Cadet e
Mutual Reception

Prog.
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BIRTH CHART @\acrdus  HOUSE SYSTEM

. No. 2 - The “HOUSES” Chart. DIRECT METHOD

I .

i ) - : BY DIRECT METHOD
. ASPECTS
PLANET DEC. 0O ) % 2 & 2 - P ‘ NOTES D | X Y.
I h & v Birth date . 2116182
Sun O , Dirth place =t cny m:?—' N .
. hnm:n 2 .Q 40 Se ol
Moon ) Lengitude Ul 9&‘ E&glf
l Mercury ¥ :’i::l-.ud'- ; O-L.l- N ..g";-_
" Venus Q Zene sandard a2 [ = =
° | Summaer (or double) time® ~—
I Mars 3 \ GM.T. | loy 27—
P > cMT daue 20 & : B2
. P . M. . s
I Samrn h Sid. urre nosa GM.T. 95'5-5 zc’
’ Interval *TO/FROM noem pru+| 7 _[D&
Uranus ¥ Result 6157129
l Ncpmo w Mhm-aim.::: (e
Sid. lime st Greenwich &t binth 6 s 7 39
Pluto B Lengitude equivalent *E + Wo. / / 07
L&'A?.'s?ﬂ'.’na: AT m-m\'; 12| ——t—
Asc. Ase. « | Subtzact 24 hrs. of 'si '2‘? 104 ‘5?
oS | (bg| 39
M.C. M.C. ® Deicte wnichever i3 ngt required.
T ———— =
. - J
NAME . %&)L— NO.____.__S“"AW (= q.q,:gcp

Designed by M.E.HONE.
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I PROGRESSED DATA BIRTH CHART HOUSE SYSTEM
I D M v
Noon positions on Prog.
Cornlpond to 19— Noon Date
15
P)
| -
P
1Z
Ruling Ruler’s
Planet House.
Rising-
Triplicities :-
I Fire Qwn sign
Earthe. Exaited
Air Detriment e
I Water Pall
Quadruplicities :-
Cardinal Angular s
I Fixed Succeedent
Mutable Cadent

I Mutual Reception

- R RSO
K ASPECTS ‘ BY DIRECT METHOD
" PLANET DEC. O ) % 9 & 2 R W y p NOTS B, w T
° Birth dase i
I Sun O firth place . - ' ’
Lantude .
== ; |
' Venus Q ]l
Summer (or double) ime® — -
I Mars d cMmY. |, e
A C.M T. date
Jupiter P\ (Y
l Satarn h Sid. ume neen G.M.T. ot
interval *TO/FROM noeon p. ::
hd lg Result E‘
. I Neptune \v Accslersion sn imml.:':: ___Q_____
Sid. rime st Creenmch ot binth G"
Pluto B Longiude equivalent *E« Wa ' Ar
A LOCAL SID. TIME AT BIRTH U
Ase. « | Subtzact 24 hra. of ary = G
M.C. M.C ® Deicie wachever s not roqu od.
I NAME —D—‘-‘f"“‘i} No.

No. 2 - The “"HOUSES™ Chart. DIRECT METHOD Designed by M.E.HONE.

I b.
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T0 CALCULATE'THE PLANETARY POSITIONS

Using 'Tables of Diurnal Planetary Motion', published by American
Federation of Astrologers, Arizona.
(Note: Carry forward GMT of birth e.g. in the example used the GMT wvas
1.04p.m,

There are two types of tables to use. The format in each are the same.
TABLE 1: (For the calculation of the Sun's position ONLY)

STEP 1
Open up your ephemeris again at the birth date and month, locate the GMT
date. Note whether the GMT birth time is before or after the GMT date.
If the time is before 12 noon of the date,you will be working with the
date before the GMT date, if the GMT birth time is after 12 noon GMT
date you will be working with the date after the GMT date.

Our example follows: Refer to example page of ephemeris, table (ﬁ}‘(o) talow .

GMT birth time and date was 1.04p.m. 20/6/82. We want to know the sunk 24
hour motion between 20/6/82 and 21/6/82.

From the ephemeris, the Sun column shows on 21 June 1982 that the
Sun is in JC 299 47' 07"
and on 20th June 1982 Sun is in I 289 49' 50"

With this particular example, to subtract the 20th from the 21st we will have
to carry some hours and minutes over.

Example

[+] ] "

28 T- 106 47
Then we subtract - 28 X~ 49 SO
Result being difference and the 00 57 17
distance the sun travelled
in 24 hours from noon
20th to noon 21st.
Now lock up in Table (i1} (b) below . the column vhich heads the

numbers 57' 17". Apparently there isn't one so we go to the nearest
number (57' 18").

Now remember the GMT birth time on the 20th was 1 hr and 4 mins so
taking the four minutes go to the '4' under the heading "Time 0 Hours
Min" then follow the rank over until you are under the 57' 18" column.

The answer will be 0'10".
Then under the column "hours" go to the 1 hour time of birth then across
to 57' 18" and you will have 2' 23",

Add these together o' 10"
+ 2' 23"

2' 33"
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Add the result (2' 33") to the Sun's position before the time of birth.
In this case it is the position on the 20th. :

® 289 I= 49' 5o

* 2' 33"
280 51' 83"
Carry mins and secs over ® 2g° 3 52' 23"

Now check down the sun column in the ephemeris for the zodiac sign the
sun is in on the GMT day.-

Qur example shows:

Therefore the ansver is () 28° I.52' 23"

i.e. the sun is 28 degrees Gemini, 52 minutes and @3 seconds.

(® 28° 31 52' 23" will be transfered to your horoscope.

TABLE II (for all other planets)
Same method as for Table I. Carry forward 1.04p.m. hours.

for the Moon:- (see tables(ii)(c)and (ii)id))
Don 21st 29° IC 51' 30" Carry over Sec  29° == 50 90w

Don 20th 1493 40' 33" Minus - 14 I 40 33
Result, motion of moon in 24 hours = 159 YA
Looking up heading in Table II of 15° 11°'
4' = 2' 32"
1 hr = +37' 57"
Carry Over 40' 29"
Add to the 20th Moon position 149 3= 40°' 33"
e.g. remember the moon has moved from + 40' 29"
noon 20th so the motion must be added
to get the position at birth. = 149 33=80' 62"
which equals D 159 I 21' 02" This figure is
transfered to the
haroscope.
For Mercury:- (see Table iii and table iv)

On looking down the Mercury column you will see an & and a D. Mercury had
gone Retrograde in motion then Direct in motion before the GMT date, therefore
the planet motion would be direct and the calculation made as above.

¥ on 21st 8o T46
¥ on 20th - 8° 14°
* 26hr motion being Qe 32!
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In the table
32' column for 4' Q' os"
32' column for lhr + ' 20"

1" 25" which is added to the Mercury
position on 20th

gge 1= 14
+ 01' 25"
= Mercury position at 1.04 p.m. GMT §18° 15 25
For Venus:-
250 Y 16 from 1° 11°' o' 11"
- 24° 59 column + 2' 57"
= 3t Q9n
240 8 51 go~
+ 3! Q9¢
P 240 & g g9
For Mars:-
90=l=z 5! from 0% 23' column o' 04»
-89 L2 + Q' ST
Qo 23" 1" o1"
80 ﬂqz' 00"
- 1' 01"
g go=243" 1n

For Jupiter:- Note Jupiter goes Retrograde (R) before the 20th and 21st and

turns direct after these dates, therefore. Jupiter is still considered &. In
this event the last calculation is subtracted. This method is used with

20th 0° ™M, 31' note less figure No figure in 4' rank of
2lst - Q9 30' subtracted from 1' column.

]
1' greater. 2" in 1 hr rank and 1'

column.,

on the 20th Jupiter is 31' into scorpio. 60" (lmin) will have to be carried
over to the seconds column to subtract the 2" from the tables.

20th B Qo 30 60"
minus - 02"

%8  m730° S8

If there had been no apparent motion between the 20th and 21st retrograde
figures, the figures in the ephemeris would be copied straight onto the
horoscope and considered Retrograde Stationary (B8S).
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For Saturn:- Note Saturn goes Direct (D) before the dates we are working
from, therefore calculations are as for the non & planets. You will see
though that there is no difference of motion between the 20th and 21st.
Saturn is Stationary although direct. No calculation takes place in this case
and the figures are calculated straight onto the horoscope, Saturn being

" considered Stationary Direct (SD).

D) s0_nn3g

For Uranus:- Uranus is Retrograde.

PR32 2' from tables =5 " i° 31' 60"
fi’}gf - ____ ¢

b #3105 5

For Neptune:-

250 ;,?‘ 351 2' from tables = 5" 2504 34 6q"
- 250 33! 1

2! "ty‘& 250 734" 55"

For Pluto:-
Pluto is Retrograde Stationary.

Result is BBS 24°==10"

STEP F
Transfering the planets to the horoscope.

OQur work with sidereal time gave us the signs on the house cusps and what
degree the cusp commences.

Take the sun 28°73L 52' 33"

Gemini starts the 3rd house cusp at 6° so it would be reasonable to assume 69
of Gemini would be in the 2nd house and the remaining 24° in the 3rd house.
(Each sign having 30° each). CounY from the 6th degree to the 28th degree
which is only 1 degree off 309 Gemini and 2 degrees off 02 Cancer. (Note the

- .4th house cusp is 10° Cancer). Place the Sun on the 28th degree of Gemini as

shown in the following diagram.

Keep clear in your mind the house cusps are sign posts and we place the
planets onto the horoscope 360° circle in relation to these signposts. Also
note a sign consists only of 30° (09-30°) no more, no less. Keep clear the
distinction between signs and house. The houses are on paper, the signs are
projected into the heavens. In analysis the two come together dynamically.
We use a degree of a sign to mark the beginning of a house. The house begins
at its cusp, (signpost).

For the other planets repeat the same method.
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CALCULATION OF THE "PARTS™

6 parts' will be dealt with in this lecture.

The Part of Fortuna &
The Part of Illumination ¢~
The Part of Destiny &

The Part of Occultism

The Part of Fate

The Part of Spirit OO\

Note in the following the signs start from 0° so Aries will be 0°-1, that is,
'the first house BUT numbered 0. Taurus is l1-2 so is numbered 1 although
Taurus is the second house. Gemini 2, Cancer 3 and so on.

& The ascendent + Moon minus the sun
e.g. Sign ° '

To 9 @
+ .2 15 21
2 24 635
: - 2 28 . 52
wve see 24 cannot take avay 28
so wve borrov 1 extra sign (309)
to 24 and give 12 signs to the
1 remaining sign S 13 54 63
- 2 28 52
11 26 11 = &26° ¥ 11" which is
entered on to the horoscope

The part of illumination is the same degree but opposite sign to the
part of fortuna.

i.e. B26° Mo |

@ M + Sun - Moon (MC is mid-heaven which is the 10th house cusp using the
Placidus System.)

e.g. V79 10
‘ +IC2 28 52
11 38 52
-ac 2 15 21

5 23 31 = &®23°VY31
297 Ascendent + Neptune - Uranus
To 9 a
+ X8 25 34
. 8 34 75
- 8 30 58
417 = ¥a T 17



L151/23

Egz Ascendent + Saturn - Sun

X

borrowing
54 71

=52 10 = X 260519

d::5 Ascendent + Sun - Moon
T 9 41
+ —IL 28 52
7 93
- =T 15 21
22 72

Carry over ‘ c/o 23 12 = & 2397 12

o N NN O

{G‘ ‘-\.‘s\,‘\ )p\ﬂ\n. L,\;.\L\, C R e c:»&ga\c~\-;o‘\s .
THE MOON NODES:

These are found in the Ephemeris in the month and day of GMT. Calculate these
as one would the Retrograde planets. First calculate the North Node ( b ).
The result of the North Node is exactly the same. for the South Node @xcept the
South Node is placed in the opposite sign.



INTERCEPTED HOUSES

There may not necessarily be a different sign per cusp.

e.g. from your Tables of Houses a result may be

10 11 12 Ascen 2 3

27° 29 11° 14°48' 6° 29°

The horoscope would look thus:

-tb\éuﬁ?c¢v\ T
4th and 10th are intercepted houses.

L151/24
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OTHER POINTS

Filling in the data to the left of yourchart. 2= QA:agronn 5L

The ruling planet is the strongest planet in the horoscope. Some say the
planet ruling the sun sign, or the ascendant is the ruling planet, but
preference is to the planet in the strongest and most influential position.
This is obtained through the analysis of the planetary positions.

Ruling Planet: Strongest planet in chart.

Rulers House: The house the ruling planet is situated.

Rising Planet: Planet nearest ascendant. It is considered any planet more
than 60° away from the ascendant cannot be considered a rising planet.
Paositive: The amount of planets, parts, nodes, ASC and MC in positive
(masculine) signs.

Negative: The amount of planets, parts, nodes, ASC and MC in negative
(feminine) signs.

TRIPLICITIES:

Fire: Amount of planets, parts, nodes, ASC and MC in fire signs.
Earth: Same as Fire but in Earth signs.

Air: Same as Fire but in Air signs.

Water: Same as Fire but in Water signs.

QUADRUPLICITIES:

Cardinal: Amount of planets, parts, nodes, ASC & MC in Cardinal signs.
Fixed: Same as Cardinal but in Fixed signs.

Mutable: Same as Cardinal but in Mutable signs.

Angular: Amount of planets, parts, nodes, ASC & MC in Angular Houses.
Succeedent: Same as Angular but in Succeedent Houses. '

Cadent: Same as Angular but in Cadent Houses.

MUTUAL RECEPTION:

The relationship between 2 planets located in the sign which one or the other
rules.
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ASPECTS C&is\-c.vxuz,o \:t e.\n.ngw \oxdenaan Q\M\“\

Major Aspects:

< Conjunction Qe

4~ Semi Square 450

¥ Sextile 60°

O Square 9g°

&  Trine 120°

o° Opposition 180°

<+ Grand Cross 2x90°, 2x180°
T T Square (Cross) 2x180°, 1x90° to both 180°
GT Grand Trine 3x120° linking up.
Y Y Configuration 2x60° inconjunct a third.
- Double Sextile 2x120°, 1xé0°
% Double Semi Sextile 2x60°, 1x30° linking

2 Double Semi Square 2x90°, 1x45° linking
Explanation.

A grand cross is four planets square each other, e.g. 2 oppositions each
square the other opposition.

The T square is 2 planets in opposition and another square both of them,
The GT is 2 planets trine each other, and those two both trining a third.

Y is 2 planets sextile each other and both inconjunct another.

#* j5 2 planets trine with a third sextile both.

Double Semi Sextile is 2 planets sextile each other and a third planet semi
sextile bath.

Double Semi Square is 2 planets square and a third semi square both.

Minor Aspects:

Vigintile ) 18¢°
. Semi Sextile 3Q°
—+ Semi Quintile 36°
Q Quintile 72°

Tridecile 108°
& Sesquiquadrate 1350
£ Bi-Quintile 144°
¥ Quincunx 150°

P Parallel -

The degrees are distances between planets. The aspect graph is filled in with
the symbols in the appropriate box where an aspect is formed between 2
planets.
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PROGRESSED DATA

D “ Y

Noon positions on

BIRTH CHART

Correspond to

PO jd

P) 7

Py i

po L

P3

;ulinq Ruler’'s

Planet Houss e
? Positi UE

Phnot._i_ Nmﬁn_ﬁ.

Triplicities:-

Fire omnsign 2 %

Barn O znn.d;ﬁ’____

Ar— D Detriment. T _

Wator—-i— Fall _—

Quadruplicities :-
Cardinal 1O Angular 19 ___
Fixed Succesdent

o
-———-—-/-“4 Noon Date

. | L151/27
e {200 A G s B HOUSE SYSTEM

4

0. 2 -

The “HOUSES" Chart. DIRECT METHOD

VA E

Designed by M.E.HONE.

\(\oea S coER.

Mutable Cadent —7
Mutual Reception —_—
k- .
3Y DIRECT METHOD
©Q ) 8§ ¢ & 4 h ¥ v B et dase st le les
Sua O (=} A do % O 9§ rh place Aok - N L
¢ dJB Lanede 29 |uolca i
Moon ) gl AlglA ) Longivade (16 |52 |Ecat
reury Q@F, (=] = wm
Venus ? q 60 vv '*"O‘Qr“q Zose sandard i |12 |Oo|—
"l Summer (or double) ime®
Mars d \ <3 cmr. (=2 sl
Jupiter 2 A &b cMT. dae 2D . b 8L
=z e K0 ag . N | m | s
Samumn h 2 Sid. ame noon G.M.T. oS [SB(9
! T 2T
Uranus '8' interval *TO/FROM noon p.m. +
- Rewult oeley Z:O
Neptune Y Acesjeration on interval p.m. » !
* Sid. time st Greenwich at birth ‘6 S7129
Pluto B Longitude equivajent s€s W |1 | 17T
Ase. ¢°¢M Locgfu.sm rmit:':n:.g W =T
Jos. * do ) Subtract 24 hrs. of ““““"3 29 /[‘;f: g39
° o
wm.c. m D & Deicte wmnichever is not required.
T s "& (Lamealt . .
C ne )
g’ac:c ;’;mnoﬁw C\/\ﬂo’\%o‘m No.__| 06 twl39
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